
PROBLEM 4C 

WORD PROBLEMS    NAME ______________________________ 

Place your answer after the equal sign 
 

1.  12 apples were on the apple tree 

7 apples were eaten by deer.  How many apples are left?  

 12 – 7 = 

         

2. 9 Bears were fishing 5 bears left to find some honey.  How 

many bears were left fishing? 

= 9 – 5  

3. There were 15 bunnies on the backyard lawn.   6 bunnies 

went down the hole.  How many bunnies were left on the yard? 

15 – 6  = 

5.  There were 10 deer standing in the neighbor’s 

yard.  The neighbor brought some deer food out 

and 6 of the deer ran away.  How many deer 

stayed behind to eat the food?    10 – 6 = 

4. A clown was carrying 16 balloons and 10 of 

them got away.  How many balloons did he have 

left?  16 – 10 = 


